

$$\begin{aligned}
& \therefore (x+iy)^{\frac{s}{t}} + (x-iy)^{\frac{s}{t}} \\
& = (re^{i\theta})^{\frac{s}{t}} + (re^{-i\theta})^{\frac{s}{t}} = r^{\frac{s}{t}} \left(e^{i\theta\frac{s}{t}} + e^{-i\theta\frac{s}{t}} \right) \\
& = r^{\frac{s}{t}} \left(\cos\left(\theta\frac{s}{t}\right) + i\sin\left(\theta\frac{s}{t}\right) + \cos\left(-\theta\frac{s}{t}\right) + i\sin\left(-\theta\frac{s}{t}\right) \right) \quad \because \text{by Euler's formula} \\
& = r^{\frac{s}{t}} \left(\cos\left(\theta\frac{s}{t}\right) + i\sin\left(\theta\frac{s}{t}\right) + \cos\left(\theta\frac{s}{t}\right) - i\sin\left(\theta\frac{s}{t}\right) \right) \quad \because \{\cos(-\alpha) = \cos \alpha \text{ and } \sin(-\alpha) = -\sin \alpha \\
& = 2r^{\frac{s}{t}} \cos\left(\theta\frac{s}{t}\right) = 2 \left\{ (x^2 + y^2)^{\frac{1}{2}} \right\}^{\frac{s}{t}} \cos\left(\frac{s}{t} \tan^{-1}\left(\frac{y}{x}\right)\right) = 2(x^2 + y^2)^{\frac{s}{2t}} \cos\left(\frac{s}{t} \tan^{-1}\left(\frac{y}{x}\right)\right) \quad \square
\end{aligned}$$

Q5. Solution

\because we have given;

$$\begin{aligned}
& (\cos x + i \sin x)^2 = \cos 2x + i \sin 2x \\
& \Rightarrow (\cos x)^2 + (i \sin x)^2 + 2 \cos x (i \sin x) = \cos 2x + i \sin 2x \\
& \Rightarrow (\cos^2 x - \sin^2 x) + i(2 \sin x \cos x) = \cos 2x + i \sin 2x
\end{aligned}$$

Comparing real parts;

$$\boxed{\cos 2x = \cos^2 x - \sin^2 x}$$

Q6. Solution

\because we have given;

$$\begin{aligned}
& x - \frac{1}{x} = 2i \cos y \\
& \Rightarrow \frac{x^2 - 1}{x} = 2i \cos y \\
& \Rightarrow x^2 - 1 = (2i \cos y)x \\
& \Rightarrow x^2 - (2i \cos y)x - 1 = 0
\end{aligned}$$

which is quadratic in x ;

$$\begin{aligned}
x &= \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \\
&= \frac{(2i \cos y) \pm \sqrt{(2i \cos y)^2 - 4(1)(-1)}}{2} = \frac{(2i \cos y) \pm \sqrt{-4 \cos^2 y + 4}}{2} \\
&= \frac{(2i \cos y) \pm 2\sqrt{-\cos^2 y + 1}}{2} = i \cos y \pm \sqrt{-\cos^2 y + 1} = i \cos y \pm \sqrt{\sin^2 y} \quad \because \cos^2 y = -\sin^2 y + 1 \\
\boxed{x = i \cos y \pm \sin y}
\end{aligned}$$

Q7. solution

$1+i = 1+i(1) \Rightarrow x = y = 1 > 0 \Rightarrow$ Terminal ray of $\text{Arg}(z)$ lies in 1st quadrant.

$$\Rightarrow r = \sqrt{x^2 + y^2} = \sqrt{1^2 + 1^2} = \sqrt{2} \text{ and } \text{Arg}(z) = \tan^{-1}\left(\frac{1}{1}\right) = \tan^{-1}(1) = \frac{\pi}{4}$$

$$\therefore \text{polar form : } 1+i = r \text{ cis } \theta = \sqrt{2} \text{ cis } \left(\frac{\pi}{4}\right)$$

$$\Rightarrow (1+i)^{200}$$

$$= \left(\sqrt{2} \text{ cis } \left(\frac{\pi}{4}\right)\right)^{200} = (\sqrt{2})^{200} \left(\text{cis } \left(\frac{\pi}{4}\right)\right)^{200}$$

$$= \left(2^{\frac{1}{2}}\right)^{200} \text{ cis } \left(200 \frac{\pi}{4}\right) \quad \because \text{By De Moivre's theorem}$$

$$= 2^{100} \text{ cis } (50\pi) = 2^{100} \text{ cis } (49\pi + \pi) = 2^{50} \text{ cis } (\pi) \quad \because \theta' = \theta + 2k\pi, \text{ where } k \in \mathbb{Z}$$

$$= 2^{100} (\cos \pi + i \sin \pi) = 2^{100} (-1 + i(0)) = -2^{100}$$

Q8. solution

$$x^4 - 4 = 0$$

$$\Rightarrow (x^2)^2 - (2)^2 = 0$$

$$\Rightarrow (x^2 - 2)(x^2 + 2) = 0$$

$$\Rightarrow (x^2 - 2) = 0 \text{ and } (x^2 + 2) = 0$$

$$\Rightarrow x = \pm\sqrt{2}, \pm i\sqrt{2}$$

$$\therefore \text{Sum of roots} = (\sqrt{2}) + (-\sqrt{2}) + (i\sqrt{2}) + (-i\sqrt{2}) = 0$$

Q9. Solution

Let

$$x^4 = i = 0 + i(1) = \cos\left(\frac{\pi}{2}\right) + i \sin\left(\frac{\pi}{2}\right) = \text{cis}\left(\frac{\pi}{2}\right) = \text{cis}\left(\frac{\pi}{2} + 2k\pi\right) = \text{cis}\left((4k+1)\frac{\pi}{2}\right), k \in \mathbb{Z}$$

$$\Rightarrow x_k = \left\{ \text{cis} \left((4k+1) \frac{\pi}{2} \right) \right\}^{\frac{1}{4}} = \text{cis} \left((4k+1) \frac{\pi}{8} \right) \quad \because \text{by De Moivre's theorem}$$

Put $k = 0, 1, 2, 3$

\Rightarrow

$$x_0 = \text{cis} \left((4(0)+1) \frac{\pi}{8} \right) = \text{cis} \left(\frac{\pi}{8} \right)$$

$$x_1 = \text{cis} \left((4(1)+1) \frac{\pi}{8} \right) = \text{cis} \left(\frac{5\pi}{8} \right)$$

$$x_2 = \text{cis} \left((4(2)+1) \frac{\pi}{8} \right) = \text{cis} \left(\frac{9\pi}{8} \right)$$

$$x_3 = \text{cis} \left((4(3)+1) \frac{\pi}{8} \right) = \text{cis} \left(\frac{13\pi}{8} \right)$$